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Unless he is unaware of its 189 — AR IND2 AR TY

OVERVIEW

"X taught that regarding a mv°2 NY12Y one is not liable for a 1277 unless he
was 172w R?2 2w, There is a dispute between *"w7 and Mo0IN as to the
meaning of 772w X723 2w,

mooIN explains the case of 72w W52 MW is if -
— NPV NUINX NIY NDIONR NYWII YINI JINY NDW ¥aV) 1D

For instance, he swore that he will not eat, and he ate, and while he was

eating he forgot the prohibition of transgressing a f7¥13@; he thought that one

is permitted to transgress his 7y12w -
— NAY NOIN 20N Y1 7PN YaYIY AMaY nywat ‘oTxn nda 19999

And we can refer to this situation as ‘the man (2787)’°, since at the time

when he took the oath he was well aware of the 7y1aw 910°K; that one is
prohibited from transgressing a 712w -
—INWAY HY 93¥Y 99197 9920 NP0 NDIIN NYYAY NIN

However at the time he ate, he (forgot and) assumed that it is permissible
to violate his oath (which he was aware of then).

mooIn cites "W D:
— YAV NIV NN NYWAT PWsa 7w

And >"w9 explained (that 72w X921 2w means) that when he ate he
forgot that he swore not to eat —

mooIn disagrees with >"w7s:

:3)’:\’))\’) 4513 999NV NN NAY INDA MY NP NT PNRT AR PN)
And this explanation is not acceptable, for when someone does not
remember that he swore; this cannot be referred to as being a 3 in the

! Regarding a *1°2 ny1aw the 77N (in 7,7 XIp™) writes 712w DTRA XY WK 99, The ®N™92 in K15 nwaw
(see R 11"7 "W on the "2 Y here) derives from the words 7v12w2 07877 to exclude an 01X (from the 2vrn
7771 79 127p) since he was not a 07X (a person who is aware and in control of what he is doing) when he
took the oath. However in our case (even though that when he ate it he presumed that it was 70 [which
would seemingly exclude him from 7¥y12w2 o7X7], nevertheless) he is a 7¥12w2 07X as NMDOIN explains.
22 naw a"7a.

3 If, when he is eating he does not remember that he swore, this cannot be considered that he was a 33 in
the Y, since he has no recollection of a W?. However, according to n901n that he is aware of his oath; but
he mistakenly assumes that it is not binding; this is considered 72w W72 23w. See ‘Thinking it over’ # 1.

TosfosInEnglish.com



7¥ 7"7 'O X,00 naw 7"02

NS,

SUMMARY

*"w1 maintains that 72w X2 230 means that he was unaware of his oath
when he ate. M50In maintains that he was unaware (when he ate) that the
oath is binding.

THINKING IT OVER

1. M5OI maintains (in his question on *"w7) that if one is unaware of the
oath it is not considered 72w 22 2w. Seemingly, why is forgetting the oath
different than forgetting that it is nN2w, where all agree that if one forgot that
today is N2w he is 2711 (one 127p2)?

2. What would >"w7 maintain in m501n case (where he thought the oath is not
binding); is that (also) considered %92 3w?*

* See anm Pwh.
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